
������������	 ��
�� 
 ������
�������
 ���
���
����
� ����	 ���� �

��� �����	�
������
���
���

���� �����	
�

������� ��	�
��
�� 	�
���� � �����
�����
���� ������
������ ���������������

��������	��
 ��� �
������
� ������ ���	��� SO(3, 1) � ������ SO(3, C)
 ���������	� ������� �����

�	��� ����	�������
 ��
����	� ��
���� �	���� �������	������  ���	��� ����	� ����	�� � �	�������

������	 � !�
����� ������"	�����
 ��	 ����������� ��!�� �	������� !�����	����� # $���	�� ��� �

������% �
 ���������� �����������	������	�	����� ���	�����& '���
���
 ��� ��	 ���	���� �	�������

�	���� �	���� ����� �� � �	� �	 ���	�����	���� (��	����
 ��� � ��	�������� �	���� �������	�������


������ 
��	��� ������� �	"	��	 
� �� �������	������  ���	��� �	��	��������� �	�	���& '���	 	��

�	"	��� �	���� ������ 
� �� ������ �� � � ��������	�� (�	�	��� �	������������  �������&

�������� ��	�
) �	�����!�����	�����
 �	���� �������	�������
 �	��	��������	 �	�	��
 �	���������

���	 (��	���&

��
�) *+&,* -.&/ *+&,* -0

�� ��������

�
��
� �
���
 �������
�� ����� ��
���� ��������� ! ����"# $
��$
��%��"�! ������&�����
���� �
���! ��(�%��"�� (
"���$�������� � ����� )����"�$���"�� ! %����� * ��#! ���� �#��!
�
���
! �(����� ����#���� $
����
�� * �
���� +�℄ �
�� ���
�-��� ����
��� 
���.�
���� ! ��
#$������� 
�)��� � ���#"�#� )����"�$����� ! %����� * �
���� +	℄ ��"
(
��� %�� �#��
$���
�-/
� � #������� ������%��
���� �#�������
��� � ��
���-����- 0��! 
�)���� �$��� ���� ���������$
����� ������&����� "���� � ��� ���$#�����"� �! � ��
��
��� ! ��(�%��"�! �����.
! ����/
��
����� ����� ��)�%��"� ���(
��#� ����� #�
������ "�
������� "�
���%��"�� � �����������"��
$�!
��"� %
���. �

* �����
)
�$�� ���� �
���� ��%- ������ ��&- � ���$�������� #"
(
�� ! )����"�$���"�/
� ! %���� 1 "�
��������� 2� ��"�
���������3� ��
���� #$������� �
(��� ! �����. "���� !�

1qk = qk1 = qk� qkql = −δkl + εkljqj �� �($����� ����)� ���$
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����()"��� "� q1 = i* q2 = j* q3 = k+ ! ,#�!�(� -���.���� ,� ,�!"�#�/0��&� ��$� &�� �&") &-���#�!����* δkl*
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�5$�&) #�&&��"#�!��"&� "�() � !� "�#��� Ok′n ∈ SO(3, C) ,#���#���!���� �$���% qk*  �"�#�� 6�7 �����#���
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����
������	� ��������	 + ���	
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s ≡ (an + ibn)qn #5$

� ,����
������� ������-

s2 = b2 − a2, #6$
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s ≡ ib1q1 + a2q2 #0$
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���������	� ,������ �
�
����	�- ��
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������� ������� /0� :℄� ������� ������� ��� 
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s ≡ ib1q1 + a2q2 = ib1′q1′ + a2′q2′ , #:$
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ds ≡ idtq1 + drq2 = idt′q1′ + dr′q2′ , #;$

�
� dr� dt + ��������� ����
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Σ′ = OΣ, O ∈ SO(1, 2). �$�
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 ��
���
� Σ �� (�����������&�" )�(��* iψ

Σ′ = Oiη
3 Σ, Oiη

3 =





cosh η i sinh η 0
−i sinhη cosh η 0

0 0 1



 ; ���


�(�� �� ���
����� ��� ����� ������
 ��
��
��� ���������
���� &�������
 � 
������

dr′ = dt sinh η + dr cosh η, dt′ = dt cosh η + dr sinh η

4��� ��� +
�� Σ′ ' ����������" �����	 
� dr′ = 0	 � 
������� �&����
� �� �
�!���� �
�����

����� ������ Σ ���������
�� �������" u = dr/dt = tanh η�
5��!���� �&����
�"� %��
� ������ Σ′ � Σ′′ �
�!�
�� �
����
����� Σ 
�&	 �
� �� �&����
�

u1 = tanh η1	 u2 = tanh η2	 �����
���� ��� �(��� β ���( & ���(� 
 ����
����

����" ����&��
�
{q2,q3} ������ Σ	 � ���
� ��� +
�� u1 ↑↑ q2� 6�(��  
����
����� ���
��� ���
��

����
 ���
�

������ ��
���
� 
��� �$� Σ′ = Oiη1

3 Σ	 Σ′′ = Oiη2

3 Oβ
1Σ	 �
&��� ����� ���������
�� 
���!���� ���

�������� 
�&
���
 ���
��� Σ′′ &�& ���&-�" 
�&
���
 ���
��� Σ′# Σ′′ = Oiη2

3 Oβ
1O

−iη1

3 Σ′ 	 ��� 

�
��" ��
�����" �����





q1′′

q2′′

q3′′



 =





cosh η2 i sinh η2 0
−i sinh η2 cosh η2 0

0 0 1









1 0 0
0 cosβ sinβ
0 − sinβ cosβ









cosh η1 −i sinhη1 0
i sinh η1 cosh η1 0

0 0 1









q1′

q2′

q3′



 .
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���
Σ′′ �
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���
 Σ′′

iq1′′ = (cosh η1 cosh η2 − cosβ sinh η1 sinh η2)iq1′+ �7��

+(sinh η1 cosh η2 − cosβ cosh η1 sinh η2)q2′ − sinβ sinh η2q3′

%��&���&� 
 ������ ������ Σ′′ ��������
�� �� Σ′	 ���
�� ���� ��� ��� +
�� ���
�� �
���
�
������
��
�� 
 
��� dt′′iq1′′ = dt′(iq1′ + uyq2′ + uzq3′)	 ��� ����(�� dt′/dt′′ = cosh η	 
 
���

iq1′′ = cosh η(iq1′ + uyq2′ + uzq3′). �7��

�� ���
�� ���" �7� ����� ���������
�� ����
��
��" (�����������&�" &������

cosh η = cosh η1 cosh η2(1− u1 · u2)

� ������
 ������� ��� &�������
 � �&
����
�� ������ �&����
� Σ′′ �
����
����� Σ′

uy =
u1 − u2 cosβ

1− u1 · u2
, uz = −

u2 sinβ
√

1− u2
1

1− u1 · u2
, u2 =

(u1 − u2)
2 − (u1 × u2)

2

(1− u1 · u2)
2 . �8�
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�� 
 ���
�
�����!��� �����
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∂

∂Φξ
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 ������������
�
 �
�"���� 

��	���
������
� �
�"���� ����
������
� )
�
�� 
���
�� q2* �
�"���� ��	��� Σ′ 
��
������#

�
 ��	��� Σ � 	
��
����� ���
������ a′ = const 
	���
����� ���
������ 	


�
�� Σ′ = O
iη(t′)
3 Σ�

��� ������� O
iη(t′)
3 ��������� )+*� �
 ����� 	��������� �
�	
������ � 	������� η(t′) ��"�
 
	��#

������ 
����� 
������ Σ′ ����������� �� Σ ,
��� �������� 
���
�#�����
�� ����� 
�� )c = 1*

ds = idt′q1′ = idtq1 + drq2, )-.*

� 
���
� ���
������ 
���������� ��� 
�
��� 	�
��

���� )-.*

a′ = d2s/dt′2 = idq1′/dt
′ = iωt12q2 = η̇q2 = a′q2, )--*

���� ��$���� ��� 	�������� η(t′) = a′t′� 	
��
����� ��������

���� )��������� ��
�
���* 
�#
����� ��
�
� ���� ,�	���� ��	
����� ��������� �� ��
����
� )-.* �

��
$���� dt/dt′ = cosh η�
����
 ����� ��
����
��� 
������ ����������� Σ 
� 
������ Σ′

t(t′)− t0 =

∫

dt′ cosh(a′t′) =
1

a′
sinh(a′t′); t′(t) =

1

a′
ln
[

a′t+
√

1 + (a′t)2
]

, t0 = 0,

� 
�� /�����������0 �������������� ��������������1 
��
��������� ��
�
���

u(t) = tanh(a′t′) = tanh[sinh(a′t)] =
a′t

√

1 + (a′t)2
, )-2�*

���
����� � �

������� ��� ������� 
������ �����������

a(t) =
du(t)

dt
=

a′

[1 + (a′t)2]3/2
, r(t) =

∫

u(t)dt =
1

a′

√

1 + (a′t)2 −
1

a′
. )-2�*

&
 ���� �
����� )-2* �
"�
 	
������ 
 ������ �	�������
� ��
��� 
��
�������
��� 34℄� �


������� ������ 
 �
�"���� ����������
�
 ��	���� ���������
�
 �� ��
�
���
����
� �������

������� 
 �������
� )���������
�* �
����� ��
��� 
����
 �� ���������
����� &
 
�� ����

��$����� 
 ���������
���
� 
���
��
� �
����� 

����� ��	��� Σ ����������� �� Σ′ 6�
� ������������
� �������� �

�
����
��� 
�������
�

���
����� 	


�
�� Σ = O
−iη(t′)
3 Σ′ � 	��"��� �������� 	�������� η(t′) = a′t′7 
���
�#�����
��

����� 
��

ds = idt′q1′ − dr′q2′ = idtq1,


����� 
	���������� )
"�����
 ����������* 
���
� ���
����� ����������
�
 ��	���

a = d2s/dt2 = idq1/dt = 0

� �

��
$���� �����
��

 
������ dt′/dt = cosh η 8���� 	
 ���
"���
�� 
�$� ���
����� 
�#
��������� 
�� �������������� �������������� �
�"���� Σ� /���������
�
0 �� Σ′

t(t′) =

∫

dt′/ cosh(a′t′) =
1

a′
arcsin[tanh(a′t′)], t0 = 0; )-9�*

u(t′) = tanh(a′t′); r′(t′) =
1

a′
ln[cosh(a′t′)], r0 = 0; a(t′) =

a′

cosh2(a′t′)
. )-9�*



������� �	
	��
�	� 
������ � �	����������
��� 
����� ����		 ����
	������
�	 �

��� � � ��	
�
�
	� �����	� ��� ����� ����	���� ��	�	�� ������� ���� ���
���� � ��������
�	�	������������� �����	����� 
���	���� �� 
��  ��!"�� ����	��# ��	�	�� Σ′ ���� � �	�	�	 Σ
���	
��$��� � �����������$��� � ��	
	�	 tt′→∞ → πc/(2a′)%

&�	'	���� (�����% &���! �	�	� Σ ��������� ���	�������� �������	�!�� )�	��
������ ��	�
*
� ����
���� � '	���	 �������# �� ��� ��
���� R� �� ������# ������	��� 
���	��� �	�	� Σ′� ���+
	����������# ��� �	% (�	 �	��� ��#�� ���	�'�$ q2′ �� �	����� qk ������� ��� � �����!��#
���	�� ��	�	�� q2′ ↑↑ q2% , �	�	������������ �����	 ��	�
� q2′ = q2� �� ���  ��!"�� ����+
���	�!��� ��������� 
���	� ��������! -��	��� ������	��# ��	'	���	# (����� ./℄% , ������
��	'���!��# �	���� �������	�!����� ����	� -���� -��	��� 
��������� ����	� ���%� ������	��
.1� 2℄�� � �	������# �	���� ��
��� �	"�	��� ������% �	�	� Σ �	�	��
�� � Σ′ ��	
�$
		 ���#��	
��	� ��������	4 �5� ���
	��	 ������ �	����� 67 � �� ���� γ = ωt8 �55� ���	� ����	���# �������
������ �	����� 67 9 �� )����* iη� tanhη = ωR = const8 �555� � �����	 ���
	��	 ������ ������
�	����� 67 � �� ���� −γ(t′) = −ω′t′� ��� ��
�	� ��	��$$ ���	���'�$ �	�	�� Σ′ �������	�!��

)�	��
������ ��	�
*% :����	��	 ������ �������� Σ′ = O
−γ(t′)
1 Oiη

2 Oγ
1Σ ��		� ����# ��






q1′

q2′

q3′



 =





1 0 0
0 cos(ω′t′) − sin(ω′t′)
0 sin(ω′t′) cos(ω′t′)









cosh η 0 −i sinh η
0 1 0

i sinh η 0 cosh η









1 0 0
0 cos(ωt) sin(ωt)
0 − sin(ωt) cos(ωt)









q1

q2

q3



 ,

����
� � ��	��� ������"	��� t′ = t/coshψ ���	
	��	���� ������	�� ���	�'�� q2′ �� q3

〈q2′〉3 = sin[(ω − ω′)t]− 2 sinh2(η/2) cos(ωt) sin(ω′t) ∼= sin(ωT t).

;������ � ����� ��	��� Σ+�� �$
��	��� �	���� q2′ ��	'	�����	� ��	������
��� � ���������#
�������#� ��� ��!"�� ����! ������# ��� ����
�� �	������� �����	�����	� ��	'	���� (�����

ωT ≡ ω − ω′ = ω(1− cosh η) = −
ω

2

(

ωR

c

)2

.

&��	��� ���	���!� ��� � �	������� ������	 �	���� �������	�!����� �	������ ����������+
$��� -��	��� ���� ��	'	���� (����� 
�� �� �� ��������!��# ������ � ����	 ����������	
-��	���� �� �$
�	��	 �� �	��	�'���!��� ����	� ����	�� �
	���� ��% � ����	 .<℄�%

�	�����������# ��������	���# ��'�������% &���! �	�	� Σ′ 
���	��� ��
 
	#����	� �������+
�	���# ����� �������	���# �
��! q2′ � � �� �$
�	��� �� ��	�'���!���� �	�	�� Σ% =�� ���	�����	+
���� �����'�� ���������� ��������	���# ��"	 ��
��	 ���	� ����	����� 
���	���� �������	���
���
��� �����	��	� �������� �  ������ ���	������% >� �	������ �� ���	����� �����	��� �	�	��
Σ′ ��� 	��!� ���� �� 	
���'� ������ � 
����� �����	 
�����  ��! ��������	���# ����'�#

a′ = d2s/dt′2 =
dη

dt′
q2′ = Ω′β cosΩ′t′q2′ ;

�
	�! Ω′ ? �� ���	���� ������� ��'��������� β < 1 ? �	������� ����������� c = 1% &���	
�		 ��+
�	����� ���	
	��	� ����'�$ ���	� ����	����� �����	��� η(t′) = β sinΩ′t′� � � ��� ? ������"	��	
��	�	�

t =

∫

cosh η(t′)dt′ =

∫

cosh(β sinΩ′t′)dt′.

&�� ������� β < 1 -��� ���	���� �������	��� ����� � ��
	 ��
� ���%� ������	�� .�℄�

t = t′ +

∞
∑

n=1

β2n

(2n)!

[

1

22n

(

2n
n

)

t′ +
(−1)n

22n−1

n−1
∑

k=0

(−1)k
(

2n
k

)

sin(2n− 2k)Ω′t′

(2n− 2k)Ω′

]

, ��<��

����
� ��� Ω′T ′ = 2π ���	
	��$��� ������"	��� �	���
�� � ������ � Σ � Σ′

T = T ′

(

1 +

∞
∑

n=1

β2n

(2n)!

1

22n

(

2n
n

)

)

, Ω = Ω′

(

1 +

∞
∑

n=1

β2n

(2n)!

1

22n

(

2n
n

)

)

−1

. ��< �

@� ������"	��# ��< � ��	
�	�� ��� � �	�	�	 Σ ���	 ��	�!��# ���'	�� ��	
������	���  ��		
�	
�	����� �	� � �	��!�����% ����	� ���	�����	���� ������	������ ��'��������� �� �$
�	����



�� ���� ������	


�� Σ� ���	
�� �	��
���� ����
�� ������ t′ = t′(t)� ��� ����� 	��� ������� � ���	������� β =
ν/c ≪ 1� ν = const�

t′ ∼= t−
β2

4

(

t−
1

2Ω
sin 2Ωt

)

.

 ������������ �!������ ������� ������������ ����������" ����
��"

u(t) = c tanh (β sinΩ′t′) ∼= v sinΩt

(

1−
1

3
β2 +

7

12
β2 cos2 Ωt

)

, ��#�

��$����� !�����" � ������ � � !��%� ������� ������ ��
$ ������������ ��
$� ����������
u(0, T ) = 0� � ��!��������� ��	�&������ �!������ ���� umax ≡ V (T/4) = v

(

1− β2/3
)

' (�!�� �	)
������ �������� ��%�������� Σ′� � ���!� ������ Σ� �!��������� ��$���������!��' *�	�&������
�������� 
�!������ � !��������� �������������� ���
��&��� ��������%��������� � ����$��)
�������� �
�!%�� ��#� �� ������� ��	�&������'
 	������ ������ ��	�&����� ����%������$� ������ Σ �� ������� ������� Σ′� ��������" �

��%���������� ��+����� �� ���
 �� ��$�����
' , -��� ��
��� ��� ���	.�������� �	��
��� �
�!)
%�& �������� ��-���
 ��� !����������!�� .���!�������!� ��������&��� � ���� �.���
�.�� �����
������ ��� �������� -�
 �����
 �� ���$�. ��
$�. �����������!�. ����� ���
�!�&
�. ��+� ���)
	�������� ��+����'
*� ��+�� ��!�� ��������� ��� ������ ������ � �����������!�� ��%�������� ��������� ���)

������������� ��������" /������!� 	�����%��0 � ������ /�������!�.0 ����%�"' 1�"�����������
���� !�������!�� �
��+������ ������������� !�! ���� !���	���� ��%�������� Σ′� �� /	�����%�0
��!����� ��
$ ������������ ��
$� � ������ � � !��%� ��������� $�� ��������� �. ����$� �������)
&�� � ��!�� � ���!� ��������� ��$�� !�! �!����������� �!������ ��!��� �� ���. �����. ����!�����
�����$����� ���������� ������� ��' � !��$� 2�℄�' *� ���� �� ��+�������������. 
�����" �� ��)
��������� ��� ������� -��$� ������!�� � ���!�. ���%������" ������ ���������������'

�� �������	
�	 � 
	
�� �	�����������	 ���	��� � �����	
 ���
��	

,�!�����" ������ ������ ��������������� ������ 
��	�� ��� ������������� +���!�$� ���!)
��� !����������!�. ���
�%�" � ������%������. ������.� � ��� ����� � ��!�.� $�� ����� �������
�������� 4����' 5�� ��������� ����������� ��� �����������!�. -���!��� � ���+��	�. 6�����)
��" �������� $�� �!������ ��� 
�� ������������ � �!������ ����� �� �������������� ���+!��
	���+�" ��������"� ��! ��� ��!�� -���!�� ���������� ���������'
�����������!�" ����$ ��
���!�� ������' 8
��� 4���� ������ Σ� � ������� ������ Σ′� ����
�)

�� ��!�
$ 6���%� �� !�
$���� ��	���� � ����������� ����"���� �!�������� VE � VP � � �
���
��� -��� �������� �. 
$����. ��	�������. �!������" ���� Ω ≡ ΩE − ΩP = const� ��� ������)
�� �������� ������ Σ)��	�&�������' (�$�� $����	������!�" �������� η(t) ≪ 1� ��������&
�"
����������� ������+���� ������ t = t′cosh η� � ����������" ��������& ������������ �� $��������
���
$�����!� �!������"

V 2 = V 2
E + V 2

P − 2VEVP cosΩt = c2 tanh2 η.

8
��� ��	�&������ ������� ����� ��
���!� ω′ = const 9 �$� ��	�������� 
$����� ������� �	)
��
���� �� ��	��� ����
�� r = const' , ���
 ������+���� ������ �������� ��	�&������ � 4�����
�!��������� ����+� ω = ω′/cosh η� �� ���� ���� /�����������!� �����&�0' *������� ��"�� ��)
	�&�����" 
$�� ��������� ��
���!� ������������ �$� ����%�� � ��!�����" ��������" ������
�������

ϕobs(t) =

∫

ωdt = ω′

∫

dt/ cosh η(t) ∼= ω′t

{[

1−
1

2c2
(V 2

E + V 2
P )

]

+
VEVP

c2
sin(Ωt)

Ωt

}

,

� ����� 9 ��������� ��� ��	�&�����$� � 4���� �!��

�$���� ��	�������$� ����$� ��
���!�

∆l ≡ r(ϕobs − ϕreal) ∼= −
V 2
E + V 2

P

2c2
rω′t+

VEVP

c2
sin(Ωt)

Ω
rω′. ��:�

,����� ��� -��� -���!� ��!���������� �� �������� �� !���� ��$�� �������� ��
���!� ��	�&)
������ !�! ������������� � ���������� 
�!�������



������� �	
	��
�	� 
������ � �	����������
��� 
����� ����		 ����
	������
�	 ��

aobs = −
VEVP

c2
rω′Ω sin(Ωt); ����

��� �	
���
 ����� �
	�	���� �������
� ��	���
��� � �	�������� �	���� ��
	�
�	��� ��� �	�
�
�
���
� ������
� ������	 �  ���!	 � "!�	���� � �	 �# $�� �	�$%!���& '��$��������
� ��(
��	%�) �� ������ ��	$����� ��$�*���� �	 �	��������� ��+�������� ����
,	%+�� �- �	����

./℄�
1!�	
�� 
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��
	� ����
� �����	$����� �!���	 ��*�� ����� ��������� ��	
�����
�� ��	������ 4�&������$����
� �����$����- �	�$%!����- 5����	� �
������ ������
	 �$	���
  	��� �	�����	 ��+�������	�
���	����������� ��� !��*���� �� ������ ������� ��� ��������� �!��$��������$���% �������(
���
�% ��!�$� ����� !��*���� �	 �	�� 
$	������
�& ��-	��
� �$�*�� ����� �	������� .�#(�6℄��
7���� ����� ��������� ��� 
�������
�� 	��	�	�
� �	��	�$���
� 
  	��� � ��� ��$�� 
 5������
$��� �
	�
�	%��� ������,�
�� �� ����� � ����8������& ������& 	��	�	�	�� $��� ���	��*��	%�
5���� �	 ��	�
����� � ��+�������
� �����*����� ��� �*�!	���& ��	������&� ����2��� 9�
$
� �	
�����������%+�� �������
� �����!��
 � �	���� .�:℄� �!� �	
*� ��
	�	��� ��� �	���� ��$�*���� �
��
������ 5����	 � ����+�% �����$ ��;� ��� !	�� ��	����� ��$���� � ���!�$	- 	�����������
�-
��������& � ���	���$���
- �
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� �	 �	�� ����
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�	��!$���� ���!	 .�@℄ � ����� ��������
� �����2	��$��
�� ��
������� aP = −(8±3)·10−8��/��!2�
"�	$�����
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� �
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� �	�
	- ��
������� ����	�	 ������ ��������$������ ��
	�	$�� ��� ��	 '	���	$��) ��*�� �
��
��$��������
�� ����
���� �	��� �� ����
�	%+���� � ��$� ��� ���!��$	�	���& �	$�����
C���� '����!��*�
&) ����� Σ ����	� � 9�$�2�� ��	���&  �� 	 ����� Σ′ � � ���!�� ��	���&

m�� !��*�+���� �����$���&�� �!�$� �	��	�$���� q2 � ���������& �
������% u(t)� H�	������
�������	 Σ′ = O−iη

3 Σ � '�$��
�� ����) ����� �$�!������ ��	�!	����� ������,���� ������ dt =
dt′cosh η � �
�	*���� �	�$%!	���& � Σ �	����
 ����	$	 f(t) 
	
 ���
2�� �����������& ���!��
�	����
 f ′ = const

f(t) = f ′/ coshη = f ′
√

1− (u/c)2 ∼= f ′

(

1−
u2

2c2

)

.

1��%!	 �
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 �$�!����� ����
�	 '�	��!$���� �������)

∆f/f ′ =
f ′ − f

f ′
=

u2

2c2
= ε/c, ��A�

�!� ε � 
��������
	� ������� ���!	 �	 �!���2� ��� �	��
� I�$� ��$����	 ��A� ����!�$����� �
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���������	� �� �	�$%!	��$� ��*�� ���!�� 
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��!� � ���� ��� ���������
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��� ����	��� ����� �������	�
�� ��������	�� � �	������� ��������	�
���
����
�	���� �������
� uK � � �	�
�
���	 �	�� �������	� ���	�� !���	��

f =
f ′

√

1− (uK/c)2

(

1−
uK

c
cos γ

)

, ��"�

��	 γ # 
��� $	��
 �	�����$ �������� uK � �������$ �	�����$ �������% & ��
��	 ����� '���	�
�( ���� 
��� $�� γ ∽ 0) �� ���$
�� ��"� ����� ��	�
	� uK

∼= c∆f/f �� � 
�	��$ ������*	��� ��+��
���	�	��	��� �	������ ���
�	��� ��������

uK
∼= ε/c. ��(�

& ��$��, �������	���� $	,����� � �������-�� .
����� ������ ��	���� ����� ��������� E0 ≡
mε − GMm/r = const� ��	 G # �������-������ ����������� r # ���������	 Σ#Σ′� �� 	��
 ε =
E0/m+GM/r% '���������� ����� �����	��� � 
����	��	 ��(� � ����	�	�-�������	 ����	��	��
�� ��	$	�� ��	� ���$
�
 ����	�� ���
�	���� 
����	��� ���$	��	���� �����

aK ≡ u̇K = −uGM/(cr2). ����

/��� �	 ����$�������
 ���� ���	�� �	 � 0������$ $��	1� � � ��$��, ���	� �	���� ������2
�	�
������ ��	 ���	 �����	��� 3���-� �������	��� �	*	��	$ 4���-*��
��� �� � ������*	��	
��	$	� ������	��� ��������	�
��	 0�������-�����	1 �����	$�	 5�6℄

dt = dt′
(

1 +
u2

2c2
−

GM

c2r

)

,

��� ��� �	������ ���
�	���� ��$	��	��� �� �����	��� � ���$
��� ���� 
������	���

aK = −2uGM/(r2). ����

'���������� � ���� �������� c = 2, 99 ·1010 �$ · �−1� G = 6, 67 ·10−8 �$3 · � · �2�M = 1, 99 ·1033 � �
����$	���� ����� '���	� �( �� ��	��	$ ����	 	�� ������	��� ��"+8#�""( ����� u = (1, 52− 1, 41) ·
106 �$/�� r = (4, 3 − 7, 2) · 1014 �$ ��� �����, .939 5�:℄� ��	� �������� ����	��� ���
�	����

����	���

aK = −(7, 27− 2, 61) · 10−8�$ · �−2,

��� ������$� � ����	�	���$� ��*	 ����	��$	����
��$� �����$�% ;�	�
 ����� ��	���
 ��� ��2
$	�����% <� ���$
� ���� ��� ��	�
	�� ��� 	��� 0���$���� '���	��1 ����	��� �	�����������$
���	$����	���$ ���	���$� ��� �
�
�� �������� �
��-�	� �������� ����������� �������	$�	

����	��	 �	 $��	� ���
 ���������$ ���� ������	 �������� ������ ������	����� �� ������

$	�
*��
�� �� ��	$	�	$% '���	�
���� ������ ����	��$	����
��, �����, ������� 5�+℄� ��� ��2
�������� �	������ 
����	��� �	������	�
�� 
$	�
*�	���� ��� '���	�� �( ��� 
$	�
*	��	 ������2
��	� ∆aP ≈ 2 · 10−9 �$ · �−2 · ���−1% 3 ��$��
� ���$
�� ���� �	������ ���������
 ��	��	������	
��$	�	��	 $��
�� ���
�	���� 
����	��� ����� � ���-	 ��	��	�� ����� ������	��� ��""� �����
������� �������� 5�:℄� r+��
 = 7, 2 · 1014 �$� r = 7, 58 · 1014 �$�

∆aK =
2uGM

c

(

1

r2+��

−

1

r2

)

= 2, 51 · 10−9 �$ · �−2 · ���−1,

��� �����	����
	� ����	��$	����
��$ �����$%

.� ��������� �����	���� ��	�
 �	���� � ����	�	���, ����	��� ���,������ ��	���
 ����� �
��$� ��� �	������������ �� �������-������� ���	�� ��$	�	��� ������� �������� �������� ��
����
 ���	��� !���	�� ����	� �����
�� ��$	���� ����������	� 0���$���� '���	��1 � 
����2
���
�� ��� ��=���	��� ����� �	��$	��%
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������ 
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 ��&
 ������ -���� �
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����������
�$%�� �����.� � �������  ����M0 � m0 �
��$��� ����
����
����
������ ������� 
� �
�
 Σ � Σ′� 
��	%� #�
�
�� �� ���
.�������� 3��� ���� ������� Σ′ ��	�$������
�� 
� �
� Σ� �� 
� �������� 
�
����
� �� � /40

ds = icdt′q1′ = icdtq1 + drq2, /5�0


����
 q2 
��#��  �
������� 
����
� ������������� ���
����� 6�� �����.�� � ���
����� �"�
��
������ �
�
������  �
�
��� Σ′ = Oη

3Σ� �����"��  �������� ����  ����� 	������#� 
����
�&
����

��� /5�0� ������������� �
����
�� ��
�&��
�
��������� �	������ ���"� � 
����
 �� ���&
��� 7����
�������� �� � 
�������� �� ����� ��	�$�����#� ���� 
 �#� ��	��
����� ������� �������
Σ′ � ������ ����������� 

���� dt = dt′cosh η� �������

P′ = m0
ds

dt

dt

dt′
= m0 cosh η

ds

dt
= m

ds

dt
≡ P, /5+0

#��� ��� 
 � �.������� ���
�� ����������������  
����� m = m0cosh η� �����"���� 
����
� ��&
 �����  � ��� ������� 
� �
�
 � 
��������� �� ����������� /5�� 5+0

P′ = im0cq1′ , /54�0

P = m0 cosh η (icq1 + uq2) . /54	0
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���
∂t′qk′ = Ωk′n′qn′ ,� ��� 
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�
����� 
���

∂t′P
′ = m0ic (Ω1′2′q2′ +Ω1′3′q3′) ,

#�� ��� ������ �
������� � ���
�$� ����
����
���� ��	��
����� ����������� � ��
������� ����&

���� 
� �
� Σ′

Ω1′2′ = −ia2′/c, Ω1′3′ = −ia3′/c.

3��� � 
������� ���� ���  
���
������ �����  ���� Σ′&��	�$������ � ����
����� ����
�� ��
�%�%��� /����
���0� F′ = m0ak′qk′ � �� ������� 
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����� ������������� ���$%��
��
��� �
�
����� ��$����

∂t′P
′ = F′. /510
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 ������ 	����������� ��	 �����		 �������� �����	 �����	�	 ��� ������� 
���!� ����" Σ′ �����������# 	�������������� 	����	� ����������� �������	� 	 ���� �����������
����� �����# ��$�� �%�	��	�� ���������% ��������&�� �� ��!� �	�%'

(�� Σ ����������� ���$� ��$�� ���	���� �������	� �	�� 
��
 ∂t′P
′ = F′) ����� �	������ 

+	�����	� 	������� 
�,�
 �� ������	 - ��� ��	�	���� �	�

∂tP = m0 [η̇ sinh η(icq1 + uq2) + cosh η (icΩ12q2 + icΩ13q3 + u̇q2 + uΩ21q1 + uΩ23q3)] = Fkqk, 
�.


!�� �� ����	�� ∂tqk = Ωknqn ������% ���������% ��������	# ���$���������%� � ����������
	 ����������� �����������	 Ω12 = −ia2/c# Ω13 = −ia3/c ����������!� �������	� ������ Σ 	
� �!����� ��������� Ω23 ≡ Ω �!� �������� � ��������	 �������� q2 	 q3' /�	 0��� ���������
�������	� 
�.
 ���	�%������ � ����������� ������&	� �������

im
u

c
(cη̇ + a2) = iF1, 
�1�


m(cη̇ + a2) = F2, 
�1�


m(uΩ+ a3) = F3. 
�1�


2������	� 
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 ��	�%���� �	���	�� �����	�	�����!� ���� 
������ Σ′
# ��	$�&�!��� ��� ��� 
���	�� ��������� �	�% 	 ����������!� 	�# ����&� !�����# ��	���+	�����!� ������ Σ# ������
q2 ������!� ��������� ���������� ������� �����	������� �������	 �������' 3�� �	����� ���� 
���	� 	���� ��� ��&�������%� ���	�	�����%� ����%' 4� ����%�# ����� ��	��������� ���������

��	���
 ���������� �	�% F1# ���	�	� ������� ������� � 565 �	�����	�� ��������� � ������ �� 
���	" ������� ����# ��� �	�� F2 	������� ���	�	�� �����	������� �������	# �������������# ��� 
����� ������������# ��� �	�� F1 �	�����	��� 	������� ������� ������	' 4������# ����������

�1�
# ������+	�������� ���������� 
�1�
# �� ��	��� �� �������	������ �����$��	� �������	�'
4� ����%�# �����	�	����	� �������� �	���	�	 ����	��� �������$������ ���# ��� � ����������
�	����� �������	� ������ ���	�����%� �������	 �� ������	 �	!��	���� ���	�����%� !	����� 
�	�����!� ���������' 4 +���� 0�� �	����� ��������� ������ ����%� 	 ������%� �����	 �	���	�	
	 ��	 ���%� ������	�� u/c ����	��� � �����	������ �	����� �������	� 7������'

4��	������� �������	�' 4��	�����	�	����� ��$�� ���������%� �������	�� ������ Σ′ 	 ��� 
��������	 �!� �������	�# ����������!� 	� �	����% ������� Σ# ��������	������ � ����&�� ���� 
���	� �������� Σ′ = Oη

3Σ# 	� ������!� ������� ���������	�

q1′ = cosh ηq1 − i sinh ηq2, q2′ = i sinh ηq1 + cosh ηq2, q3′ = q3, ∂t′ = cosh η∂t.

/���� ����������	 0�	� ���������	� � ������ �������� 	����	�������	 
��
 �������	� 
��

��	���	��� � �	��

∂tP = m

(

V

c
a2′ iq1 + a2′q2 +

a3′

cosh η
q3

)

; 
�8



������	� ��0��	+	����� ��	 �������� qk � �������	�� 
�.
 	 
�8
 ���� ������% 	������ ���	 
������	 ����������!� 	 ���������!� �������	�

a2′ = cη̇ + a2,
a3′

cosh η
= V Ω+ a3. 
5:�


3�	 ���������	� ������� �����	���� � �	��

cη̇ = a2′ − a2, V Ω =
a3′

cosh η
− a3, 
5:�


���� ��������	���&�� ����������	 �����	�	������ �	���	�	' (�����	������# �������� ���� 
�����%� �������	� ������� ���������� ����������� ����������� �������	�# ������� ����� �% 
��$����� ��� ���	������� �� ������	 �� !	������	�����!� ��������� 
� �� �� �����	�������
�������	
' 7���������� $� ���������� �������	� 
�������� ����� ������� ��������!� ���	��� 
���	� �����	������� �������	 ������� 	 �!����� �������	 ���&��	� ������ Σ
 ���� �����	�	�� 
��	 ��������	�������� �������� ���������%� ��������%� �������	� ���������%� �	���� �������'
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 �����

 V/c ≪ 1 ����	���	
� ����� �������� � �����
������� ����
��� 

!��
� �����
��� ��� 
�����	
� ����	���	
� 
���� 
�����" #������
����
" ��$��� 
� ���
�
�������� �������
�� ��#� ������ ��� ������	
�		�� ���&	���� 	� �������� ��	&���� ��	��
����	�

������&���	
" ��
��� '�� ����	�#� ������ ���&	���
 Ωkn (�� ������� 
���� �
�

Ωk′n′ = Ok′jOn′mΩjm + ∂tOk′jOn′j ,

��	&��	$� ���"���� )
���
�* 
�����	�� ���#����� + ������ 
�
���&����#� &���� 
�����#� 
�����
��&���	
� Σ′ = Oη

3Σ ������ ��� ���
�	�	�$ ���
�	$ �� 	���

Ω1′2′ = Ω12 − iψ̇, Ω1′3′ = coshψΩ13 − i sinhψΩ23;


�����	���� ���� 
�
	��$, �$�� ���&	���	
" ���
�	�	� ���&	���
 ����& �������		$� ������	
�
��
���� 
�
���
� � ���	���
 � ����	�	
�� ����� -��
� ����&��� ����	�	
� �����
�
�����" �
	��
�
�
 
����������� ����" ������	
� #������
����
, ���"��� ��������
�����#� ������	
�		�#�

������	���� 

.�����
����� �����
�
�����" &����
 ���, ��� /���� M0 
 m0 0 �����������		� ����$ 
����
��� ������� ��
���� Σ 
 Σ′� �&�
����"�����1
, ����� ����" -�#��� � 
�&
2
" ��&���#� ��
���
Σ� ���
�	�	�$ ������	
" ������1
� ����&�� �$�������� ����& ���
�	�	�$ �
�$

a2′ = F2′/m0, a2 = F2/M0, a3′ = F3′/m0, a3 = F3/M0. ����

3���� Fk′ � Fk 0 ���
�	�	�$ ���&��1�" �
�$� ��"�����1�" �����������		� 	� Σ′ 
 Σ� 
�
 (���
��������	�� ������	
� �
���������� ����& �����
�
������ ����� m = m0cosh η 	���������#� ���

��� Σ′� ��� ��� � (��� 	�
�����	

 ���� ��	��
����	�� ��
��	
�4 	������	�� ������	
� �
�����
������ ����& ����� 
���� /�����	���� �
������	
" ���� � ����	�	
� ����� 
�
���
� � ������1�"

�����" �
����� �
	��
����
, ����	�	
"

cη̇ = F ′

2/m− F2/M0, V Ω = F ′

3/m− F3/M0. ��5��

+ �
�� �
�����
�	���
 ��,�	
�����" �
���2

� �	���#
�	�� �
����� ����	� �$�� &�

��	�
��� ��&$ Σ′� 
& ������" 	���������� ��
�� Σ

−cη̇ = F2′/M − F2′/m0, −VΩ = F3′/M − F3′/m0, ��5��

	� � ������ 
���
��
����	�#� &	��� ��	��
����	�" �������
 
 	���,��
����
 
�����
�� ��� �$�
�
���	
� �� �����	
 t′ 

6���	�	
� ��5� 
����������� ����" �
����� ����	�	
" �����
�
�����" �
	��
�
 ���, �&��

����"�����1
, ��� !�1�����		� &����
��� ��� ��� ���
�	�	�$ �
� �2�	
������ ��	����	$�
	����������� � �
������		$" ����	� �����	
 �t 
�
 t′� 7�
 ����	�	
� ������ ����	� 
�
���&��
���� ��� 
�
��
��		�#� ����	
� �
����#� ���#� &���� � ������ (������� &�
�&�$��	
� �&�
���
��"���
" 
 �
#	���� ������	� 
���&���� ��� (�
 (�����$� ��� �
	
���� 
��
��2
�	���	$ V/c

�
 �����

� ��� �������� 
������
 �&�
����"���
� ���� 
 (��������#	
�	�#� �
#	���� ��	��	� 
��
�
���� ���
 	� ���� Σ �� �����	$ ���� Σ′ ��"������ 
�����		�� �
�� F [r(t)]� �� � ����
 &��	
�
Σ�	����������� 	� ���� Σ′� 	�,���1���� 	� �������	

 r� ����� �� 
� ������ �
�� �� �����	$ Σ
����� ��"�������� � &�
�&��	
�� F ′[r(t)] = −F [r(t+∆t)]� ∆t = r/c 8��
 ∆t/t ≪ 1� ��

F′[r(t)] ∼= F[r(t)] +
dF

dr

dr

dt
∆t = F[r(t)] + r

dF

dr

V

c
,

#�� V 0 ���
���	�� ���
�	�	�� ��	��
����	�" �������
 /�����	���� ��		�#� ��&����	
� � �
����
�� ��5��� ����
�	�� ������� 
�
��� ����	
� �� 
����#� 
������ 
� V/c� ��� ����
#����� 
��������
��	
�� ���
���	�" �������
 � �
�� �����
�����" 
 �����
�
�����" ���������1
, ṙ = VC + VR�
VR ≪ VC  

+
������ ���� � ��, ������,� ��#�� 
�������$ &�
�&�$��	
� 
��	�����
�� ���$ �����
������

��� �
�� ���$ �������	
� ����� �����
� ���$ #���
�	�$ �
�$�� � ����	
� ��#�� 
����������
(�����$� �������1
� �����
�
������ �
�2
�
�� �
	��
����
, ����	�	
" 

/���&�����	$" 
�
��� 0 &����� ��
��	
� ����
2$ � 
��� ������" ����$ /���� ���� � ����
��" M0 �������� ����� �
����$ ������� 	���������� Σ� 	�
���
�	�" �ak = 0�� 	� ��
�����1�"

������$� 
 
���� (�� ���� ���� 
����	
� 
��� 2�	�����	�" �
�$� � ������� ��
����� ����
2�



�� ���� ������	


Σ′ � ������ ��	�
 m0� M0 ≫ m0� ��
� ��
� ��������	��� ����	� �����������
 �� ����������

������� ����� �������
 � ����
������ ��
� ��������
��� �	�������!"

#��	�
�	� ��	��� ����
��� �����$� ����%����������� �� ��������& 	 �������������
� ��%
������� ��������� ������	� ����� �������� �� ������! � 
&��� ���������� ������" ' ������
�
���� ������ ����
������� �
��
(�� ������ ��	��� q2 	�����)� ������ ������
���� �������%
��	���� �����$� r = rq2� ��)�� �������� F = Fq2" '�	��� ����
��� �����$� �*+�! � �
��
(��
������ �����������
 ��	

P = m0 cosh η(iV1q1 + V2q2 + V3q3) ≡ m(icq1 + ṙq2 + rβ̇q3),

����� β , �)�
 �������� ������ Σ� m = m0cosh η" -��������	�� ��������
 ∂tP = F ��������
���
��������

imη̇V = iF1, �..�!

m

(

V

c
η̇ṙ + r̈ − rβ̇2

)

= F, �����

m

(

V

c
η̇rβ̇ + 2ṙβ̇ + rβ̈

)

= 0, �����

��� V = (ṙ2 + r2β̇2)1/2 	 
���
� �������� �������� ��� ��
���� F1 = (ṙ/c)F ��������� �����
��
����� �
�������
 ��������� ����� ����� ��� ��� ���������� ������ ���  ��
����! ���������
�����
�� "����������  ���������� σ ≡ r2β̇ � ��������� ����� ����  ����� �������
 �����
�
σ = r2β̇ = σ0/ coshη(t)� σ0 = const� �� ���� ��������� �������� σ � �� ��� Σ  ���
����� �� 
���
�

�
���� �
 �
��� 	 ��
�����  ��������� L ≡ mσ = m0σ0� ��� #��
 �$ ��������� �����  ��
�

�
��%���� ��� �� ṙ cosh η �
����� �������
 #������ m0

2

(

ṙ2 cosh2 η +
σ2

0

r2

)

+ U ∼= E = const� ��

�  ��� �
�%����� ��� dU(r)
dr

∼=
dŨ(r)
dr

(

1 + PV 2

2c2

)

� ��� Ũ 	 �����&�� �
����������  �������
� � 	

������
���� ���
�� (���%�� �$ �������
� #������ V 2/(2c2) = (E − Ũ)/m0 << 1� 
���� �����
�������  ��
������ �����������
����� ���������

U ∼= Ũ

[

1 +
PE

m0c2
−

PŨ

2m0c2

]

+ U0, U0 = const. ��*�

+� ��� 
�%�� ����� ������ �������
� ���%����� ( ���������� ��������� �����������
��
���
���� �����
����! �$ �������
�� ��������� �������� � #������� �
��� ����
 �
�������
 ����&
����� ����������

β(r) − β0 =

∫

σ0dr

r2

[

2

m0
(E0 − U)−

σ2
0

r2

]−
1

2

, β0 = const, ��,�

���
�
��� �
����������� �� �  �������
�
 ��*��
-��
�
� ��,��  ��
������� �
� ������� ��
����������!  � ����� � $����� .� 
��� �  ������&

�
�
 Ũ(r) = −GM0m0/r�  ������� � ���������� � ���
� ����%������� �� ������������ #

� ���
��� ��� #������ �� � �
�/����  �����
�� ������  � ����� �� ��$���0�� 1�
�� ���������

���$�������  ��
��� ���$����� � ����� �
������ ���
�
��� ��������� ���
�������� $���� ��&

���� 23� �����
���� ��������� $����� $� ������� � ���
��� ar = dṙ
dt = dṙ

dr
dr
dt = d(ṙ2/2)

dt �  ����� ���&
����������� ���  ���$������ �������� �����
���� ��������� � ����
��
�� �$ �������
� #�������

ar ∼= aN

[

1 +
(P − 4)E

2m0c2
−

2U0

m0c2
+

2(P − 4)

m0c2
α

r
+

3σ2
0

2c2
1

r2

]

, ��4�

��� aN = −GM0m0/r
2 	 ��0��������� ���������� ( �
���� ���
�
�� ������� ��
�������$��

��������� ��
��� �� ��
����������� ������� � ��������0� ������� �����0� �� ������� ��

aN � �� ���� � ���
�
� ��4� �
����� ������� ��
���  ����� ���  ���������  � ������ �� ���&
��
 56"6 728℄� �� ���������� rP = 6 · 1014 �
 �� "�
��� $��� ������ 23 �
�
 ��������
VP = 1, 5 · 106 �
/�: �$������ ���%� 
���� "�
��� MS = 1, 99 · 1033 � � ��
����� ���������&
�����  ��������� G = 6, 67 · 10−8 �
3�−1�−2� ;��  �$��
��� �����
��� �
���������� ���������



������� �	
	��
�	� 
������ � �	����������
��� 
����� ����		 ����
	������
�	 ��

����� aN = −GMS/r
2
P
∼= −3, 7 · 10−4 �	/�2 
 ��
�� 	����
������ �����

 ����� � ������ �������

�� E/(m0c
2) ∽ 10−9� � ��
�	 ������ �������� 
	��� ������� ∽ 10−13 �	/�2� ��� �� � ��������

	�� !� ������
� ��"
����	�� ���	�


�
������ �������� ������
����� ���������� U0� ������� 	�#�� ��������� ��� 
���
 �� ������

����� $�������& ����
���
����� �����
� ����
 ��
���
�
 $��
����(�� ��
�&� �����
�#�����
� ����
����
������ �"
���
 ���
��� ��
������ ��"
�) R ∽ 1022 �	 
 
	��(�� 	���� MG ∽ 1045 �
*�+℄� -����� ���� ������� ����
���
� ��
���
� � ����
�
��
 ��	� $��	
	� � �����������& ���
	��
��
� ���	
������� �����

aG ∼= −aN
2U0

m0c2
= aN

GMG

Rm0c2
∼= −0, 44 · 10−8 �	/�2,
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����	�� ��

�
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